——
hY

| the peo 4«Lft'fj e

é . Z ,4-\/¢/a.;/¢ \/Az/ues

For any stekitiea] tredmed, Hie cvemge of o yucille

QLIS Strmme a’ oV e

¢s .‘iﬁé.g_..P.f_e_};«_éﬂ»@ L valee
a b poss chilicties .

Ay

For cammple, the probebilth for 6= is

Se=-H/ s 0.3

=S .= 0.9 %4 + 030%)

2R
t Le ©a

| WWF;)_( o '%g—}‘em a 5 #4 ,p o L& Lt\,' Lr{z‘j 5"17"8 s

_[:S ! ) _}.3_5 s) }

f(sh*;:é B=17 (thieisstadd
o no+~'h’:7")
N S — | R E8)
E = i [=¢e) OO(S):”;'Z pfs)@jB{
SU— e e Ao s_. & 5

B o j;na/ene ral ] Hece s a gewatt Xee) T X m:lh‘ 524

S’IPCVL) K E/. 7 ’bosz'["ior\ A o [Ai‘;-,
_ — | —B-2C2)

X = L X>P =7 & Enc

,SWP pose qu have N iden ﬁcz;ﬁoég,b Ts make P
7 O .
%, stem_(ob 4e d’s are _th Jﬁp@_ﬂle:t,’!_’ _ _,_&,ﬂ._ﬁ,[ué{ Cs_h 4 V»TSAE& L/ e)

qowr

<)

N x avernse éner;,j Ei |

(=4

L/L ;NE (Uo-lvt ‘bic}z' &n %@'f‘ A sz élo;n{j loLg,q,Zfi \_._d

B penitin opaten bos does U Libire oF Lo T

—E, ,/,"B'f

E = E—, p[)) + EZ.&Q(L)E E. -)% e

N E, Jﬁ?‘; €

;'> U\s-

/\lvl\\ /r‘ LS Sz

-~ o
/I)"-Q L.szL CL’P"-UR-Sr L%kr; = ‘/_J/:r-;(gg'?:,u: (%7:—7-')

T —> 0




h = _1 22 2
Probilh  Prove t = = SB = - 38 LqZ
- Ecs N — 1S T e
I ‘Z>Z€?$->-—_)g=2565>6? ,;Z

Pebtll Prove

Pb b Staadacd devichin L
ey E =3 eV AE,= O-3ev: -3V, Az leV, AGS Yev

N T
5) __E = 2 (“’ECV) T leg\/" ﬁrlqey - O 7) l

AE® = ﬁ’ev + .;)e‘( + ——/bev 36 gvz

‘EJA‘: = é\ﬁ; eV 2.7 e\/ (easowaéze?

L 7

.= T (E*-2EE +E)P
E
T

= = _,Ez - Z—_é L' 3 E = = - = T
] -
d) B’ 7 0ev E v lteV Z - gqevidL = B eV
k=

X e RS ,€£ ), e e e —é A — - ,B_E [.5-) —
A B R ———-"52—:;25(5)6 =7
. S S

(A
g a2

Mow compete 0% E - E =5 33 ~ 735

T = e
Remember E= -3 27, == ‘*( E

o [,4)_4:,@7‘—' 4[055 ‘m,és rmean | o y(efﬁ 11 [lw 'I—Z‘vto ¢ / Wac oS Copie
> v v

| } System Op X YN T bt U N
} = celative  sige ”Z Jlocteatim o2 /u \ S
] . - _

- L = ""/ I N Ll

ot b T st €= 227 & S B R e o

‘ ' l "2 o os T=20
1 - o Daee %{5 (/VL&[\L a«hgﬁ,’zi " )



_..?‘&f_&; P .n_e'_;ffj_ m

(r‘e w«seT’ ? 3)
E.z MB

| 2= U ST oy Ll (e o
o 1 o~BF o2 P - .
1 _ P1: TE T s ,,(E_‘,",B,)ﬂm,.__._.‘__‘_,‘Pzﬂ_’.‘ Zeah (B Mg) ._ H\(
E=-#RP + mB R -#B (R-P) = -~% 9755
) ) = gy ‘l'ﬁ'_m,’l (FM3) — —
LN =ENE = N B (BeRD o o
Me= AP - s s (PR ) o Tan b (BB
I MeNE s M b (B
7 AN cesiHs seocluce d witl much Mows eFRcH
/(Zo'é'a_hm%_;(ca‘)‘m te  mop /e c u}éﬁ CSCMP /C-Cizz‘ versm—.}

|t oy shber L eall A7

== 5 (zamne

B AR

EememL‘;&( [rom a[&ss..c. a‘ w\emglmnc'cs E =

.o
2 T or
- v

e %'u'i'—b c"—waL‘ ke . 2

= E = 2N € £=3% -

—_—
2 =2, 4, 2, 3,,...

rm-= © [ :zﬂ‘f'{

Q=0

£ =1 = 28w

V"":.-')IO,' 3

L=2 m=-2,-1,00,0 & =2 A4

s S pAENE e gT

e L,, A

ﬂem )

- Loe %e.,) Lwe{: el C_914+2£au+e
-2 -2
all Cospin 2 (E2xY 3 7 79

U= /\/zz -3 e

and

| At Lu‘a]qer T

(('/f;r;r <<’ Coan _UAQL a J‘pp{rew—{“

dow

A v l:tr‘ ,&_\{e l < C,m"f'm‘éu'{’g

"4 huge

‘zie

%m Ca 2 S0 Coen ver Tt e+ 'é'o En“;?j‘rak~




|22 i (24+1)

ih T

e ARV T

€ J9 = :@57-— sy

S B SR 55 e
_ T L f»r——/f T T BE__ - , o
— e o e ,,,,_,,“,;L:._..’g,%,‘_k.,_.m,,;,_. B ,‘,,,,,,_2_ N - s Y N
Ebt = T 2. RF . F 5353_[?-53 TR = knl I
- o o %&} Fﬂ(ﬁ'[_lval’l 7Z/1
o _fear g rL'i‘s ‘/"‘é L, LI?&[}.’
)
| Comple problems it coltum of liatmie molecnles:
N D Igﬁ‘ﬁte ele ctrom JP¢K+5/ wa ve ;/M e has ron zece T, e
R ot torrectT, /\/eeﬁ Lotz angn bac o ormentum., S
P Tdedveel sfims Mo woave funchion needs  apropticte symmetr
P S’p:n o 4__':}_'%5 0’14[:‘1 € ven rQ a,[[owea-}
L At L“;‘}L T => 24 = =B ey Bt = Rn) st
~)"

gy
o ‘@-04_,\3_.@_LLB X2 ,{ v

5(9)) C|Z¢

= %_;r = = {.%4xr5°

1380 Ty zev)c

Fj 2% .

P 6027 o "% {Z“d 1 From excel
i T I ~ S B B 2
_ ] [ | 1ars Lewet = 5 + 5 “gE *%
- - & [ w370 }
- ESN NS = the o Adoesn” mess wd Ty
- . 93;) - —— > L b T
o 6 ] 634s Eot =171 oplBE 7 30: —¢
| 1o | /.3y 0 [ S
1 B 15| 15238
I Ago '303 $é, —7; See wL,cre %t {/5 Ceom 25 ,er»\
1 b bo.3yy| pte S Foodrz SR+ 2+ Refe.o
1 B o B = E+E§E+...3-S?F(x)(5x - %Fa‘ﬁ °
L - = kT B - g 3eTA
I N R R




